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ﬁﬁg TREOBBOESILADKRES TREDOHBESILNDKRES TREOBBOSILADKRES TREDHEBSSLADKRES
5 R 4 ﬁ}){ ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁﬁ*ﬁﬁg\%zg;ka‘u ‘(.%r‘n? jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁ;ﬁ\(ﬁ)(btb% jj(gi;tnié X 4 ﬂﬁh\(ﬁ)wtt% z.%r‘f jj(gifn?)é
; 100kN/mM##8Z % - -~ - -|3mZEBZD -~ - - -| 100kN/mM%#8Z% % - -~ - -|3mEBZD -~ - - -
ZznLst 1.00 1 0.00 ~ 5680 72.59 | =nLS | 000 ~ 5801 1.91 10.21 Zzh s 1.00 | 5.00 ~ 6.90 7269 | EnLS | 600 ~ 6.90 ] 1.91 10.21
2 100kN/mM#%#8Z % - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8Z% % - -~ - -|3mEBZD -~ - - -
Zhnst 1.00 ] 000 ~ 463 5767 | #ns | ooo ~ 463219 11.71 ZThLLst 1.00 | 500 ~ 6.79 57.67 | TNLS | 5.00 ~ 6.79 219 11.71
3 100kN/mM#%# 8% % - -~ - -|3mZE#BZ 5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~ - - -
ZznLst 1.00 | 0.00 ~ 6.59 83.09 | #hdst | 000 ~ 659| 1.99 10.63 zh st 1.00 | 5.00 ~ 8.86 83.09 | #hst | 5,00 ~ 886 | 1.99 10.63
4 100kN/mM#%#BZ % - -~ - -|3mZE#BZ 5 -~ - - -| 100kN/mM%#B =% - -~ - -|3mE#BZD -~ - -
ZznLst 1.00 | 0.00 ~ 7.02 89.00 | =St | 0oo ~ 702179 9.568 zh st 1.00 | 5.00 ~ 876 89.00 | #hst | 5.00 ~ 876 |1.79 9.568
5 100kN/mM#%#BZ % - -~ - -|3mZE#BZ5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~ - -
Zhs 1.00 | 000 ~ 775 99.44 | Fhst | 000 ~ 7.75| 231 12.35 Zhst 1.00 | .00 ~ 1070 99.44 | FnS | 5,00 ~ 1070|231 12.35
6 100kN/mM#%#BZ % - -~ - -|3mZE#BZ5 -~ - - -| 100kN/m%#8 =% - -~ - -|3mE#BZD -~ - - -
Zzhnst 1.001 000 ~ 733 9342 | #ns | ooo ~ 7.33|1.94 10.38 zh st 1.00 | 5.00 ~ 1086 93.42 | TnS | 5,00 ~ 1086| 1.94 10.38
- 100kN/m##8Z5| 1.00 ] 000 ~ 0.51 107.55 |3mEBZS -~ - - -| 100kN/m%E#Z25 | 1.00 | 1088 ~ 1230 107.565 |3m%EiBZ5 -~ -
LS 1.001 051 ~ 829 100.00 | ThLs | 000 ~ 829|233 12.44 zhst 1.00 | 5.00 ~ 1088 100.00 | #nS | 500 ~ 1230 2.53 12.44
s 100kN/m##8%%5| 1.00| 000 ~ 037 10542 |3mEBZ5 -~ - - -| 100kN/mi%E#BZ25 | 1.00 | 11.26 ~ 1230 105.42 |3mEEBZ5 -~ - -
LS 1.001 037 ~ 815 100.00 | FThLs | 000 ~ 815|239 12.78 ThLLst 1.00 | 5.00 ~ 1126 100.00 | #nS | 500 ~ 1230 | 2.59 12.78
9 100kN/m##8%%5| 1.00| 000 ~ 038 10568 |3mEBZD -~ - - -| 100kN/m# 25 | 1.00 | 11.23 ~ 1231 105.68 |3mZEHAS -~ - -
LS 1.001 038 ~ 817 100.00 | FhLs | 000 ~ 817| 2.38 12.76 ZThLlst 1.00 | 5.00 ~ 11.23| 100.00 | =nS | 500 ~ 1231 2.58 12.76
10 100kN/mM##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/m%#EZ % - -~ - -|3mEEZS -~ -
LS 1.00 1 000 ~ 728 9279 | #nLust | 0oo ~ 728|263 14.05 ThLLst 1.00 | 5.00 ~ 1230 92.79 | NS | 5.00 ~ 1230 2.63 14.05
17 100kN/m##8%%5| 1.00| 000 ~ 046 106.85 |3mEBZ5 -~ - - -| 100kN/mi%E#8Z25 | 1.00 | 1057 ~ 11.88| 106.85 |3m%EiEZ5 -~ -
LS 1001046 ~ 825| 100.00| Ths | 000 ~ 825|214 11.48 zhst 1.00 | 5.00 ~ 1057 100.00 | #ns | 500 ~ 11.88| 2.14 11.48
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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